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Complete the following series:-

7, 14, 28,... , what will be the 10" term? 1) 1792 2)
2456 3) 3584 4) 4096

28,33,31,36,?,391)322) 34 3)384) 40

380,188, 92, 48,20, 8,2 1) 82)203)484) 188
Z,Y,X,UT,S,P,ON,K??1) HG 2) HI 3) IH 4) JI
anb ncb_nch 1) abbbcc 2) abcbeb 3) bachab 4)
bcabab

Find the term which does not fit
series:1CV, 5FU, 9IT, 15LS, 170R

into the

1) 5FU 2) 15LS 3) 91T 4) 170R

Find the odd one out:-1) ANT 2) bee 3) moth 4)
spider

1) Corn 2) Wheat 3) Cotton 4) Jowar

Medicine is to dispensary as curios is to? 1) Granary 2)
Cellar 3) Aviary 4) Museum

Square: Diamond :: Circle: ? 1) Smooth 2) Round 3)
Oval 4) Ball

Mountain: Valley :: Genius:? 1) Brain
Thank 4) Intelligence

Hair: Bald::Crop:? 1) Field 2) Farmer 3) Rain 4)
Barren

Drama is related to director in the same way as
magazine is related to? 1) Story 2) Editor 3) Reader 4)
Printer

Rice: Wheat:Maize 1) Jowar-Bajra 2) Tobacco 3) Jute
4) Cotton

If in a certain language, SHIFT is coded as RFFBO,
which word would be coded as LKUMB? 1) MMXQG
2) MLVNC 3) KIVLA 4) MJVLC

If rain is water, water is road, road is cloud, clould is
sky , sky is sea & sea is path, where do aeroplanes fly?
1) Road 2) Sea 3) Clould 4) Water

Pointing to a man in a photograph, lony said, “his
mother’s only daughter is my mother” how is lony
related to that man? 1) Nephew 2) Sister 3) Wife 4)
Nice

A, B, C & D are playing cards. A & B are partners. D
faces towards north. If A faces towards west, then
who faces towards South? 1) B 2) C 3) D 4) Non
Which is middle words of the following:-animate,
animosity, anguish, ankle, announce? 1) Ankle 2)
Anguish 3) Animosity 4) Animate

If the english alphabet is written in the reverse order,
which will be the fifth letter to the left of the ninth
letter from the right? 1) P 2)N3) W 4) D

A student got twice as many sums wrong as he got
right. If he attempted 48 sums in all how many did he
solve correctly? 1) 12 2) 16 3) 18 4) 24

An oasis always has? 1) Travellers 2) Sand 3) Camels
4) Water

1,9,25,49,?,121 1)642)813)914) 100
2,5,9,7,20,27 1)142)163)184) 24

11,13, 17,19, 23, 25, ? 1) 26 2) 27 3) 29 4) 37

Choose the synonyms of the following words:-

2) Idiot 3)
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Stimulate:- 1) decide 2) instruct 3) suggest 4) excite
Originate:- 1) basic 2) create 3) propose 4) inculcate
Lengths:- 1) long 2) measurement 3) type 4) extent
Choose the antonyms of the following words:-

Useful:- 1) unprofitable 2) hostile 3) fruitless 4)
practical

Reward:- 1) penalty 2) seizure 3) demotion 4) warning
Created:- 1) spent 2) destroyed 3) erased 4) rejected
Find out the wrong one:-

1) emancipation 2) predominantly 3) accruing 4)

prosparity

1) correspondence 2) missile 3) indegenously 4)
transparency

1) whistleblowers 2) billionaires 3) competative 4)
umpires

Find out the error:-

1) itisa/ 2) much interesting/ 3) picture./ 4) no error
1) he was/ 2) elected as/ 3) the secretary/ 4) of our
club.

1) I never 2) went 3) to Ooty 4) last year.

1) He ordered/ 2) as if he/ 3) was/ 4) my master.

1) the details/ 2) of the incident/ 3) was not known/ 4)
to me.

1) five quintals of wooden coal/ 2) are/ 3) his annual
requirement/ 4) for the unit.

Which country won the 2014 T20 World Cup? 1)
Bangaladesh 2) Pakistan 3) Sri lanka 4) South Africa
Where is the headquarter of WTO? 1) Rome 2)
Washington 3) Rome 4) Geneva

Scurvy can be prevented by the intake of which
Vitamin 1) A2)B3)C4)D

The science of sound is called? 1) Acoustics 2)
Astrology 3) Astronomy 4) economy

The theory of relativity was given by 1) Edward 2)
Einstein 3) Lister 4) Chadwick

Who is the father of Biology? 1) Mendel 2) Darwin 3)
Khorana 4) Aristotle

Astronomy is the study of 1) Heavenly bodies 2)
Space science 3) Ocean 4) Law of life

What is the name of the capital of North Korea? 1)
Seoul 2) Phnoempench 3) Pyongyang 4) Nairobi

What is the name of the capital of Jharkhand? 1) patna
2) Bhopal 3) Uttarakhand 4) Ranchi

Who is the PM of Britain? 1) David Cameron 2) Barak
Obama 3) Mahinda Rajpakeshi 4) Jiang Zemen

Who is the CM of Andhra Pradesh? 1) C. Rajsekhar
Ready 2) Chandrababu Naidu 3) D. Fodnavish 4)
J.Jayalalitha

Where is the Old Oil well located? 1) Mumbai 2)
Haladia 3) Paradeep 4) Digboi

Which one of the following is a north flowing river? 1)
Cauvery 2) Chambal 3) Narmada 4) Brahmaputra
Hussain sagar lake is located in? 1) Jaipur 2)Srinagar
3) Bangalore 4) Hyderabad
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The river Brahmaputra turns into India around which
of the following mountains? 1) nanga parbat 2)
Namcha Barwa 3) mizo hills 4) nanda devi

The largest food crop of India is ? 1) wheat 2) rice 3)
maize 4) gram

The largest number of cattle is found in? 1) U.P 2)
Bihar 3) M.P 4) Rajasthan

The maximum edible oil in India is produced from? 1)
Rapeseed & mustard 2) Til 3) sunflower 4) groundnut
Operation flood is related to ? 1) Flood control 2) diary
development 3) import of milk 4) Snuff powder

First railway line in India was laid in 1) 1753 2) 1853
3) 1917 4) 1923

Nhava Sheva, one of India’s major ports, is in 1)
Gujarat 2) West Bengal 3) Maharastra 4) Andhra
Pradesh

India has the maximum amount of foreign trade with
1) USA 2) China 3) Japan 4) Germany

Which ports is a natural harbor 1) kandla 2) paradeep
3) tuticorin 4) Bombay

The Indian railway system is the ... biggest in the
world/ 1) second 2) fourth 3) fifth 4) seventh

Where is the tidal port located in India? 1) kandla 2)
paradeep 3) tuticorin 4) mangalore

Sri Chaitanya breathed his last at? 1) nadia 2)
brindavan 3) kashi 4) puri

Who was the founder of Din-i-llahi? 1) Akbar 2)
Jahangir 3) sahajahan 4) Aurangzeb

Vernacular press act was introduced in India by ? 1)
Lord Curzon 2) Lord Lytton 3) Lord Ripon 4) Lord
Wellesley

Doctrine of Lapse was withdrawn by the? 1) Charter
act 1858 2) Queen’s proclamation 1858 3) CSA 1861
4) none

Samudra Gupta is regarded as 1) Indian Hitler 2)
Indian Czar 3) Light of Asia 4) Indian Napoleon

Who built the Iron Pillar near Quitb Minar at Delhi? 1)
Chandra Gupta Maurya 2) Ashok 3) Chandra Gupta Il
4) Kharavela

The districts of Cuttack, Puri and Balasore was known
as ? 1) sarkar 2) suba 3) gadajat Area 4) Mughalbandi
Area

The first round table conference as held in 1) London
2) Edinburgh 3) Dublin 4) Calcutta

The first session of the Indian National Congress in
1885 was held at 1) Bombay 2) Calcutta 3) Lahore 4)
Jalandhar

The Fundamental Rights in our Constitution is inspired
by the Constitution of 1)U.K. 2)U.S.A 3)Japan 4)
France

Who is competent to amend Fundamental Right?
1)President 2)P.M. 3)Parliament 4) Supreme Court
The Fundamental Rights ensure Protection of
1)Citizens against exploitation by traders 2) Dignity of
citizens 3) Country’s security 4) Individual against
arbitrary rule

The head of the Indian Republic according to the
Constitution is the 1)P.M. 2)President 3) Vice-
President 4)Speaker
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The Office of the Prime Minister of India has been
created by 1)The Constitution 2) A Convention 3)
President 4) Supreme Court

The Budget is prepared by 1) Lok Sabha 2) Rajya
Sabha 3) President 4) Cabinet

The name of the Union Legislature is 1) Lok Sabha 2)
Rajya Sabha 3) Vidhan Sabha 4)Parliament

How many members are nominated to the Lok Sabha
by the President of India 1)Fifteen 2)Ten 3)Five 4)Two
Who chooses the Speaker 1)The Supreme Court 2) The
President 3)The Lok Sabha 4)The opposition party

The term of Rajya Sabha is 1)4 2)5 3)6 4)7

One-third members of the Rajya Sabha retire after
every 1)3 2)2 3)4 4)5

The meetings of the Lok Sabha are presided over by
1)President  2)Vice-President 3)Speaker 4)Prime
Minister

The term of Lok Sabha can be extended by 1)one year
only 2)five years 3)one year at a time 4)six months

The State which has the largest number of Lok Sabha
1)Madhya Pradesh 2) Uttar Pradesh 3)Bihar
4)Maharashtra

Who decides whether a Bill is Money Bill or not
1)President 2)P.M. 3)Speaker 4)Chief Justice of India
Which is the highest Judicial Court of India 1)Supreme
Court 2) High Court 3)Federal Court 4)Privy Council
The Judges of the Supreme Court of India are
appointed by the 1)President 2)P.M. 3)Home Minister
4)Vice-President

The seat of Supreme Court of India is at 1)Bombey 2)
Delhi 3)Madras 4)Culcutta

The Governor of the State is appointed by the 1)P.M.
2)President 3)Chief Justice of India 4)Chief Justice of
High Court

The Governor holds the office during the pleasure of
1)President 2)Vice-President 3)P.M. 4)Chief Justice
The normal term of a Governor’s Office is 1)2yrs
2)3yrs 3)4yrs 4)5yrs

The Ordinance issued by the Governor is valid for a
maximum period of 1)1yrs 2)2yrs 3)3rs 4)six months
and six weeks

The Chief Minister is appointed by the 1)President
2)Vice-President 3)P.M. 4)Governor

The oath of office and secrecy is administered to the
Ministers of a state by the 1)President 2)Vice-President
3)P.M. 4)Governor

The Upper House of the State Legislature if
1)Legislative Council 2)Legislative Assembly 3)House
of People 4)Council of State

The Presiding officer of the State Legislative
Assembly is 1)President 2)Vice-Chairman 3)Chairman
4)Speaker

The Chief Justice and other Judges of the High Court
are appointed by the 1)Chief Justice of India
2)Governor 3)President 4)Chief Minister

The retirement age of a High Court Judge is 1)60yrs
2)62yrs 3)64yrs 4)65yrs



